
�����������	 
�����	 �����
� � �����������

����

������������ ������� � � �� �! �� �" #��� ��$ %� & � ' � ( � ) � *+�,���� # * *�-.
��+��� +��/��� ��$ 0 1�*��2 3�*�4�2 5�$��*3 + � 6$ � + 0 7�*�4�2 ���35��
ρ

*��2 *$� 6$ � + � 5�$��*32 ������8  *� 3 *�2�� 0 9 3�" ���$8�2- ���3.
,��8 � ��� *�!�-�� + "�5�#$���� � 6$ ���� � ������8 ��+�� �2� 0 ����2 *��2
+ ��$ :3����� � 3�*�4�2 ; + ��������3�� 0 <2���$��8 #3�+�*���4= ����4 ��.
����2

µ
+ > 3�4$�

T = µv2
1
/2

� :*�
v1

; �� 3 ��8 :34"� % ?�$� 5���3� 5�$��*3�
%@ 0
A BC DEFGH I JK J LMNMOP QR STRUTSPOTVWRX YTZM[PWT V UT\ T[P]YP ^ _ `abc dde f g eh
ijLgklmjln op dp e q ors t e uV edddv

wxyxzx {|}} ~�~ �G�FB�GH � �GC �

�
�

�
� �

-F
R3 = 4

n
r3 = 1

n
ρ3 = 3

n
R4 = 3

n
r4 = 1

n
ρ4 = 2

n
m1 = 12

n
m2 = 10

n
m3 = 4

n
m4 = 12

n
m5 = 2

e
wxyxzx {|}} ~� ~ ��D�FGHE � EC HECE

�
�

� �

�
-F

R3 = 3
n
r3 = 1

n
ρ3 = 2

n
R4 = 4

n
r4 = 2

n
ρ4 = 3

n
m1 = 12

n
m2 = 10

n
m3 = 144

n
m4 = 108

n
m5 = 18

e
wxyxzx {|}} ~} ~ � ��E��H � � B�C B�

�
�

�

� �
��

?M

R3 = 3
n
r3 = 1

n
ρ3 = 2

n
R4 = 5

n
r4 = 2

n
ρ4 = 4

n
m1 = 5

n
m2 = 6

n
m3 = 16

n
m4 = 3

n
m5 = 4

e
wxyxzx {|}} ~� ~ �B��E����BF � �FBD

�
�

� �
�

��

? M

R3 = 5
n
r3 = 2

n
ρ3 = 4

n
R4 = 4

n
r4 = 1

n
ρ4 = 3

n
m1 = 10

n
m2 = 8

n
m3 = 196

n
m4 = 147

n
m5 = 196

e



wxyxzx {|}} ~� ~ � �E�HE ���E�BFE

�
�

�

�
�

��

?
M

R3 = 3
n
r3 = 2

n
ρ3 = 2

n
R4 = 4

n
r4 = 1

n
ρ4 = 3

n
m1 = 16

n
m2 = 8

n
m3 = 4

n
m4 = 9

n
m5 = 36

e
wxyxzx {|}} ~� ~ I �D�B� GH ��� ��

�
�

�
� �

-F

R3 = 2
n
r3 = 1

n
ρ3 = 1

n
R4 = 3

n
r4 = 1

n
ρ4 = 2

n
m1 = 9

n
m2 = 4

n
m3 = 64

n
m4 = 256

n
m5 = 128

e
wxyxzx {|}} ~�~ � �GF�F�G �C B�GC B�

�
�

� � �
��

?
M

R3 = 3
n
r3 = 2

n
ρ3 = 2

n
R4 = 3

n
r4 = 1

n
ρ4 = 2

n
m1 = 20

n
m2 = 4

n
m3 = 7

n
m4 = 6

n
m5 = 10

e
wxyxzx {|}} ~� ~ �BHE�GHD�B� �� ��DEF�C

�
�

�
� �

-F

R3 = 4
n
r3 = 2

n
ρ3 = 3

n
R4 = 3

n
r4 = 2

n
ρ4 = 2

n
m1 = 9

n
m2 = 2

n
m3 = 64

n
m4 = 12

n
m5 = 2

e
wxyxzx {|}} ~  ~ ¡C ��H � HEF

�
�

� � �
��

?
M

R3 = 4
n
r3 = 2

n
ρ3 = 3

n
R4 = 3

n
r4 = 2

n
ρ4 = 2

n
m1 = 9

n
m2 = 2

n
m3 = 16

n
m4 = 12

n
m5 = 16

e



wxyxzx {|}} ~�¢ ~ � GFGH � � B�C B�

�
�

�
�

�
��

?M

R3 = 4
n

R4 = 4
n
r4 = 1

n
ρ4 = 3

n
m1 = 9

n
m2 = 8

n
m3 = 8

n
m4 = 27

n
m5 = 36

e
wxyxzx {|}} ~��~ A �£ �� �H ¤ ��C

�
�

�

� �
��

?
M

R3 = 5
n
r3 = 2

n
ρ3 = 4

n
R4 = 3

n
r4 = 1

n
ρ4 = 2

n
m1 = 13

n
m2 = 10

n
m3 = 196

n
m4 = 784

n
m5 = 1568

e
wxyxzx {|}} ~�� ~

�
�

� � �
��

? M

R3 = 4
n
r3 = 2

n
ρ3 = 3

n
R4 = 4

n
m1 = 6

n
m2 = 4

n
m3 = 16

n
m4 = 3

n
m5 = 4

e
¥ ¦§§

¨©ª«©¬ ­
®¯°«©¯±«²³´µ ¶°«·¸¯µ ²¯²©«¹¬ ­ º·¯ª«»«°°¬« ¹´²²¬ dr edp eop ds

¼
µ1 µ2 µ3 µ4 µ5 Sumµk½ ½¾ ¿ ÀÁ Â¿½ ½Ã¾ ¿ÄÁ ÅRS[PWR^ jÆRUÇ

¾ ½¾ ¿ ¿¾ ÂÈ ¾ ½½Á kWVT[R^M ÉMU^MUM
Â ¿ Â ¿¾ ½¾Â ¾ÁÁ ÂÊÂ mËQMOT^ ÌYPSUPX
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